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Status of shifts



1. Status of shifts in January/February/March

urgently need 5 SL shifts in January – (including 3 owl)
Soon need in February 37 Sls, 23 TOs
Also need in March 11 Sls, 11 TOs



1. Status of shifts in January/February/March
2. Why do we need so many shifts from participant ?

GEn experiment is a long one due to high Q2! – 30+ PAC days
and lower beam current -> close to six months operation



1. Status of shifts in January/February/March
2. Why do we need so many shifts from participant ?
3. What is expected from Ph.D. student/postdoc?

significant part of the work time – 25% of six months = 30 days!
It will be sufficient to take 25.



1. Status of shifts in January/February/March
2. Why do we need so many shifts from participant ?
3. What is expected from Ph.D. student/postdoc?
4. Case when number is less than requested –

combined number from all three SBS runs – under discussion with PIs

for authorship in primary paper 
GMn needs 10 
GEn needs 15
GEp needs 15

Significant number have less than 10 or 15. 
Solution is a combined number approach: 5+5+5 is OK for GEn or GEp.
5+5 is OK for GMn, 5+10 is OK for GMn or GEn, 
15+10 or 10+15 for GEn and GEp.














